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FORENSIC SCIENCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  If the two genes comprising an allelomorphic pair are identical, the individual is said to be
(1) Heterozygous (2) Homozygous
(3) Mutant (4) Stutter alleles

2. Assertion (A) : The major limitations of conventional optical microscope are limited
resolution, restricted depth of field and poor contrast.

Reason (R) : Conventional optical microscope is characterized by sequential processing

system.
Codes :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.

(3) (A)iscorrect and (R) is incorrect. (4) (A) isincorrect and (R) is correct.

3. Sodium alpha naphthylphosphate along with solution aids in indicating the
presence of acid phosphatase enzyme.
(1) Fastblue B (2) Barberio’s
(3) Potassium iodide (4) Ammonia

4.  Denudation of epidermal layers of skin is best termed as
(1) Laceration (2) Bruise
(3) Incised wound (4) Abrasion

5. The Hon’ble Supreme Court of India has ruled that it is not necessary to produce
photomicrographs showing the matching of marks on evidence and test exhibits in the
court of law. This has been ruled in Ramanatham Vs State of Tamil Nadu and is given in
Criminal Law Journal page 1137 of the year

(1) 1977 (2) 1976
(3) 1975 (4) 1974

6.  Who authored the book titled ‘Mute Witnesses : Trace Evidence Analysis’ :
(1) Gerber, S.M. (2) Houck, M.M.
(3) Casey, E. (4) Butler,J.
Paper-I111 2 J-82-16
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(3) = (4) = SR
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7. is calculated value generated for a single genetic marker and is associated with
the statistical strength or weight of that locus in favour of or against parentage and
inheritance scenario.

(1) Allele frequency (2) Paternity Index
(3) Hardy-Weinberg equilibrium (4) Standard deviation

8.  Chemically all of the following drugs belong to one group, except
(1) MDA (2) DOM
(3) TCH (4) MDMA

9.  Assertion (A) : Polymerase chain reaction (PCR), a technique for increasing the amount
of a specific section of DNA is called DNA amplification.

Reason (R) : In general, PCR based genetic systems show less variations per locus than

RFLP loci.
Codes :
(1) Both (A) and (R) are correct. (2) (A)iscorrect and (R) is incorrect.

(3) Both (A) and (R) are incorrect. ~ (4) (A) is incorrect and (R) is correct.

10. Phenyl-2-propanone and Formamide are used for the synthesis of
(1) Amphetamine
(2) Methamphetamine
(3) Methylene dioxymethamphetamine
(4) Lysergide

11.  Which one of following pairs is correctly matched ?
List—1 List—11
(Presence of Gonads) (Type of intersex)
I.  Gonads absent A. Pseudohermaphrodite
Il.  Gonads present, but fail to develop at puberty B. Gonadal agenesis
I11.  Gonads of both sexes present C. Gonadal dysgenesis
D

IV. Difference of internal and external sex organs True hermaphrodite
in the same individuals

Codes:

I I i v
1) A D B C
2 B D A C
3) B C D A
4 C B A D
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1) A D B C
2 B D A C
@ B C D A
4 C B A D
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12. Match the following :

List—1 List— 11
(Form of rape) (IPC Section)
(A) Member of armed forces commits rape. (i) S.376(2)(f) IPC
(B) Teacher commits rape on his student. (i) S.376(2)(g) IPC
(C) Person commits rape repeatedly on the same woman.  (iii) S.376(2)(c) IPC
(D) Person commits rape during communal violence. (iv) S.376(2)(n) IPC
Codes :
A B © (D
@ Gy (i) (i) (iv)
@ @iy (v) (i)
@) (i) (i) (iv) (i)
@ (v) (i) (i) (i)

13. A claymore mine is an explosive device which is

(1)
)

(3)
(4)

kept under the ground and it explodes when a person places his foot on it.

a rectangular curved body having explosive and shots and detonator. It is fitted with
legs which are dug in the ground.

a PTD device.

a device which is simply put on the ground.

14. Assertion (A) : When a projectile strikes a pane of glass, a scab is produced.

Reason (R) : This is due to generation of a tension wave at the point of impact which is

reflected from the opposite side as a longitudinal compression wave.

In the context of the above two statements, which one of the following is correct ?

Codes :

(1) (A)is correct, but (R) is wrong.
(2) Both (A) and (R) are correct.
(3) (A)iswrong, but (R) is correct.
(4) Both (A) and (R) are wrong.

Paper-I111
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=it - | =t - 1
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H

A B C D
@ (@ g @) (v)
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(4) =& STHA W EH diell U 9 i € |

14. afwpem (A) ;79 HIS VeI THET g Sl Feldh & ZHIAT € e Ueh qUgT Heheret & |
BT (R) ;T VI fig W 29 a0 % ST % hROT &Il € ST b ORI SR & erse
TP T 5 &9 H TE@Tar g |
SWRIeRT T AT % Ge H et | | B 9 el € ?
T
(1) (A) T g, =g (R) T & |
(2) (A) AR (R) I T |
(3) (A) 7o &, W (R) Tl € |
(4) (A) 3 (R) IH Tora € |
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15. A technique used to separate sperm cells and non-sperm cells for DNA analysis is called
(1) Organic Extraction (2) Differential Extraction
(3) QiaAmp Extraction (4) Chelex Extraction

16. While firing 12-bore, 2% — inch IOF made cartridge loaded with pellets of small size from
12-bore IOF made gun, each pellet starts making its own hole, at a range of

(1) Beyond about 6 metres (2) Beyond about 5 metres
(3) About 4 metres (4) About 3 metres

17.  Which one of following is correctly matched ?

List—1 List— 11
(Criteria) (Feature)
I.  Sacral index A. Male = 65; Female = 80
1. Base-wing index B. Male = 2% — 3 Vertebrae
Female = 2 — 2% Vertebrae
I1l.  Corporo basal index C. Male =105; Female =115
IV. Sacroiliac articulation D. Male =45; Female =40
E. Male = 4-5 Vertebrae; Female = 2-3
Vertebrae
Codes :
I I Il v
1) C A D B
(2 A E B C
3) B C D E
(4 E D A B
18. Which of these fibers are derived from animals ?
(1) Kashmiri, Wool (2) Pashmena, Rayon
(3) Cotton, Polysters (4) Terylene, Wool

19. Assertion (A) : Mab 4E6 is used to detect urine stains.
Reason (R) : Antigen 4E6 is secreted by epithelial cells of the ejaculatory duct.
Codes :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3) (A)iscorrectand (R) is incorrect. (4) (A) isincorrect and (R) is correct.
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15. B U9 U favciuur & foIu SRy X FR-S[h10] hifeTehTaT BT eIk e o foTd Wge e ol
Teteiad & 9 o1 |a < ST ¢ 2
(1) et ey (2) fowgERT FespoT
(3) TeraTHy FeHyoT (4) <Ioieq FmyoT

16. YR 27g FET gRT M 12 SR 5t 95 @ IRA™ 3gs (o gry A 12 aR, 2% 3=
T HRAT ST DA R &, ¥ oA T Fedsh D feheT g1 T STAT (95 THT IR BT § 2

(1) TFRET 6 HX W I (2) TONETS WX WA
(3) T4 HX W (4) T3 HeX ¥
17. Fefeied | 9 fhae g Tel gam g 2

=it - | =t -

(ATIEE) (T
| HoeT s A. T&9 = 65, Afeet = 80
1. a9-fam e B. ToU = 2% — 3 FRGH!, AleeT = 2 — 2 Yo FHIBH!
[1]. SR 9T ST C. T&9 = 105, Hfeem = 115
IV. ShieTelicte STfesherer D. T&9 = 45, "fget = 40

E. U5 =4 -5 %!, Afeet = 2 — 3 FHwah

%

| 1 11—V
1) ¢ A D B
2 A E B C
B B C D E
4 E D A B

18. FreAfcAfiae | | i &1 1M STHeR! 9 U el & 2
(1) R, S (2) T, W@
3 Eﬁ“[tﬁ?'ﬁ??{ 4 e,

19. fuwem (A) : "4 T 6 H WA G & g Bl S & BT AT & |
HRT (R) © TS 4 T 6 ToMgolg! ATeTehl o SaAfeTael ShifvTeh! FRT FMfad &l € |
F:
(1) (A) 3R (R) 3 @& E |
(2) (A) 3R (R) TH Tord € |
(3) (A) Wl g 3R (R) Tord ¢ |
(4) (A) 7o g 3R (R) W& € |
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20.

21.

22.

23.

24.

25.

Nysten’s Law is used in relation to
(1) Rigor Mortes (2) Adipocere
(3) Mummification (4) Embalming

In chromatography the term describing the resistance to mass transfer process is called as
(1) “A”term (2) “B”term
3) “C”term (4) “D”term

Soil can be divided into layers known as horizons. Horizon ‘O’ is the top most layer
having which of the following ?

(1) Sand and Silt (2) Mixture of minerals and clay
(3) Organic constituents (humus) (4) Mixture of sand and mineral particles

To reveal micro-injuries to female genitals due to rape, following technique may be used
(1) Staining with Toluidine Blue (2) Staining with Leucomalachite green
(3) Staining with Benzidine (4) Staining with Phenolphthalein

Which of the following is neonaticide ?

(1) Killing of an infant within 24 hours of birth.
(2) Killing of an infant within 1 month of birth.
(3) Killing of an infant within 1 year of birth.
(4) Killing of an infant any time after birth.

Which of the following pairs is correctly matched ?

List— 1 List— 11
(Trait) (Teeth)
I.  Cusp of Carabelli A. Eskimos
Il.  Shovel shapedteeth  B. Taiwanese
I1l.  Taurodontism C. Negroes
IV. Hypodontia D. Caucasoids
E. Mongoloids
Codes :
| 1 i v
1) A E B C
(2 E D A B
3) B C D E
4) D E A B
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20.

21.

22.

23.

24.

25.

e & Togia o ua fedes |1 erar € 2

(1) RRarea (2) varge

(3) TR (4) W T

TG H 39 UM 916 () <l T el STl & ST 51 ZIAHT AT i S i & 2
(1) ‘A’z (2 ‘B’zH

(3) ‘C'=H (4) ‘D’z

gt ot et o fonfora feran i gepar & 799 8IS a1 ST € 1 @i 0 9ad S wd &l &
g e g Q@ s ar & 9

(1) R (2) W T 31X fagt 6 s

(3) FHEH EaTd (FHD) (4) a3 @S F9oT % T 1 Mg

FATH o BT Thdl ATGeAT o ST o Ged =il bl Sird &q e H T {58 qeheiich 1 7T el
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(1) CIcIErRA & % 9% s (2) TIHENIE U & Q1 AR
(3) SiSTErET o AT SRS (4) TFETRIC & AT SRS
fefeiiaa § 9 w91 FanfeaEs € 2

(1) S % 24 52 & AR ot forey 6t e
(2) S F | TEM % iR Tohdr o] @t g
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(4) S % ST B o ey B we

frfeiad & & fore g o1 Tet gaford foam man g 2

= - | = - 1
(F&ToT) (3Tq)
. WeeEwEr A e
I, IEST S 3 B.
1. eEit==A C. =
V. EarsifemET D. ®HERed
E. Tcmeed
aga:
[ | R [ | I\
1) A E B C
@) E D A B
B B C D E
4 D E A B
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26.

217.

28.

29.

30.

31.

Casper’s dictum is used in relation to

(1) Rigor mortis
(3) Putrefaction

The weight of India’s recently manufactured .22-revolver called ‘NIDAR’ is

(1) 200 grams
(3) 300 grams

For clinical autopsy authorization is required from
)
(4)

(1) Superintendent of Police

(3) Relative

The term “VIRTOPSY” is used for

(1) Use of computed tomography in autopsy.
(2) Use of dectylography in autopsy.

(3) Use of virtual reality in autopsy.

(4) Use of infrared rays in conducting autopsy.

Metastable ions are generally seen in the peak obtained from
)
(4)

(1) Electrophoresis
(3) UV Spectrophotometer

Match the following :

List—1
(Substance)
(@) Primary and Secondary amines
(b) Cocaine
(c) Alcohols
(d) Cyanide
Codes :
() (b) ()
1 (v) (i) (iii)
@ ) (i) (i)
@ ()  (v) (i)
4 (Gv) @) (i)

Paper-I111

(d)
(i)
(iv)

(i)

)
(4)

@)
(4)

(i)
(iii)
(iv)

12

PM staining
Mummification

250 grams
350 grams

Medical Superintendent
District Magistrate

Mass Spectrometer
lon chromatography

(Reagents)
Cobalt thiocyanate
Sodium picrate
Potassium dichromate
Dragendorff

J-82-16



26. HUW DI ST BT TANT [heeh Q1T BT & 2
(1) TR 3Thed (2) T UTA o T
3) T 4 THHTT

27. 4R gN & &l § A .22 fEieer 9 e et S §, o 9 feaar € 2
(1) 200 7= (2) 250 7
3) 300 7™ (4) 350

28. Ik 319 TRIeT 2 fhdeh §RT TATONSRROT ST Bl € 2
(1) e areiterss (2) Tefepear aredierss
(3) RekR (4) fT5em aiee

29. ‘T’ I STTURON T FAT Hel Bl & 2
(1) /& TR H URepfeTd SR 6 IR (2) 91 URIETOT H ST ST FRENT
(3) T TXNRIUT H ST WS BT VAN (4) 9IS URISTOT & STeReKd {RUT ST AT

30. oo STEe W el 9§ U & e 9 5 fHerar & 2
(1) seRwREE (2) T EFHRT
(3) UV TREHT (4) 3T FUToREH

31. Ml s gafed &

= - | = - 1
(TaTe) (arfirerrien)
(a) wrfHes SR U S (i) ieTee TR
(b) i (i) wifeam fuske
() 3TcehIEeA (i) T Sk
(d) wrEES (iv) ST

HT
@ @ @© (@
@ (@v) (@) (i) (i)
2 @@ (i) (i) (iv)
@) (i) (v) (i) ()
(4) (v) (i) (i) ()
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32. WCOT, WSCOT, PLOT, SCOT are types of column used in
(1) HPLC (2) UPLC
(3) MEKC 4) GC

33. In chromatography “Random Walk Theory” explains
(1) Retention Time (2) Band Broadening
(3) Flow Rate of Mobile Phase (4) Calculation of Dead Time

34. The inability of a simple lens to bring radiation of different wavelength to a focus in one

plain causes
(1) Achromatic aberration (2) Apochromatic aberration
(3) Chromatic aberration (4) Natural aberration

35.  Which one of the following pairs is correctly matched ?
List—1 List— 11

I.  Conflicting evidence A. Evidence tending to establish a criminal
defendant’s innocence.

Il.  Corroborating evidence B. Evidence tending to establish guilt.

I1l.  Exculpatory evidence C. Irreconciable evidence that comes from
different sources.

IV. Incriminating evidence D. Evidence that differs from but strengths or
confirms other evidence

Codes :

| 1 1l v
(1) D C A B
2 C D A B
(3) C D B A
4) D C B A

36. In human pelvis :
l. Chilotic line index in males is > 100.
Il.  Sciatic notch index is 145 in adult male.
I11.  Washburn index is 73-94 in males.
IV. Subpubic angle is > 100° in males.

Codes :
(1) I, I and Il are correct. (2) land Il are correct.
(3) MHNland IV are correct. (4) land Il are correct.
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32.

33.

34.

35.

36.

WCOT, WSCOT, PLOT, SCOT Shictal % UehIT & FS=1ehT T HEare |
(1) HPLC (2) UPLC
(3) MEKC 4) GC

JoTerET | “YeH o Fgia o favaiad e € ?
(1) groTheT (2) desieFmT
(3) TiETEe e oAl X (4) T IT=H FH A

el T =g i faf= Teed &l Wi | o i STEHdar & 97 e TS ¢ ?

(1) aoRfed =AfaHA (2) UHIshETCE AfdHT
(3) TR ATTHA (4) WTHaw ATTHT
fr=ferfad & @ fore 99 1 et Gt g7 § 2
=it - | =it - 1
I T ot Tme A, 3TIUH AfqaTat & R S g R arern |
I, e A aen 9ed B, TR & g A aren @l
1. e T C. fafir &ial @ w2 aret ST |
V. 3T ATt dre D. U Wmeg S 9= 8 W S8R el &l It T8
AT & 37T Sh! it AT & |

%

| 1 i 1w
1) D C A B
2 C D A B
3 C D B A
4 D C B A
A HifoT % Ferer | 7 T E 2
I oW | feeies o o9 > 100 BT ¢ |
II. =7 989 § HEuies A seo 145 §ar € |
1. oS 5 arere $So 73-94 BT ¢ |
IV. &8t § geefas Tt >100° 8 & |
ETE
() I, 1SR EEE (2) 13RI T |
() Nl ATV I | (4) 13RI TEE |
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37. Match the authors with the book they authored.

List—1 List— 11
(Book) (Author)
(A) Forensic Chemistry & Scientific (i) A.S. Curry
Criminal Investigation
(B) Questioned Documents : A Lawyer’s (ii) James Robertson
Handbook
(C) Forensic Examination of Hair (iii) J. Levinson
(D) Poison Detection in Human Organs (iv) A. Lucas
Codes :
A B (€ (D)
OV IN() (i) (i) (iv)
2 @Gy (i) (i) (i)
@) (i)  (iv) (i) (ii)
@4 (v) (i) (i) (i)

38. Assertion (A) : It is possible to determine that a hole in an object has been caused by a

suspected drill bit.

Reason (R) : Because the cutting edge of the drill bit has individual characteristics.

In the context of the two statements, which one of the following is correct ?

Codes :

1)
(3)

(A) is correct, but (R) iswrong.  (2) Both (A) and (R) are correct.
(A) iswrong, but (R) is correct.  (4) Both (A) and (R) are wrong.

39.  Which of the following statements is incorrect ?

(1)
()
3)
(4)

Monozygotic twins have identical DNA.
Monozygotic twins have identical fingerprints.
Two fingers cannot have exactly same fingerprints.
Two or more persons may have similar DNA.

40. 1°' AFIS was used in 1979 by which of the law enforcement agency ?

1)
()
(3)
(4)

Paper-I111

Central Bureau of Investigation, India
Federal Bureau of Investigation, USA.
Central Intelligence Agency, USA.

Royal Canadian Mounted Police, Canada.
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37.

38.

39.

40.

frfaiad qRaes 3R 37 oiae i GHfeTd T :

=it - | =it - 1

(TT) ()
(A) ®RITEH HELS TS AEEEE hiAe gafeieq (i) TUEHI
(B) FIvare SHHIH : 3T A &< g% (ii) e JaeEA
(C) ®RITS THRAHATH S T (iii) <. Sifae=
(D) @IS fedRM 3 g 34 (iv) T ™

FT
(A) (B) (©) (D)
@ @ @) (i) (v)
(2) (i) (i) (v) ()
@) (i) (v) () (i)
(4) (v) (i) (i) ()

Ao (A) @ I8 G99 ¢ T fordlt a5 @ {95 & 9R | I€ O S iR 9 deers feot foe
o HROT S & |

HIT (R) : U SEIeTT T gt T9 o et o BT & 70T fareioen &l € |

ST ST T % Gew | ffetad § 9 i | el ¥ 2

ET

1) (A)FEIE T (R) T & |

(2) (A) 3T (R) I T & |

(3) (A) 7o &, W (R) Tl € |

(4) (A) 3 (R) IH Tora € |

et & & S 91 e T ¢ 2

(1) UHgEsa S[ear § Merd-Sord SeAT 8 ¢ |

(2) UFgESE Sedt § Herd-SJord Se-fae 8 € |

(3) =1 St % eA-TFere foeTebet Ueh S =&t &l Wehe! |
(4) ST AT ATp AT T THTHEH S T T &l ThaT ¢ |

T 1979 ® ffoiiaa ® @ forw fafy e aifwsheor gRT Wal el T U 311 UE 1 TEnT T
T T 2

(1) H=T S0 SR, TR

(2) eI U IE TANRIIH, TIHRT T STHREH

(3) rger sforsie TS, T T S

(4) T FATSTT WSS Gford, HrTel
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41. Ink writing erased with chemical erasure may be deciphered with the help of which of the

following ?
(1) Comparison microscope (2
(3) VvsC 4)

42.  Who authored the book titled “Inks : Their Composition and Manufacture’ ?

1)
()
(3)
(4)

Brunell, R.L. and Reed, R.W.
Mitchell, C.A. and Hepworth, T.C.
Brunell, R.L. and Crawford, K.R.
Lucas A.

ESDA
Stereo-microscope

43. Recommended abstinence for semen analysis is

(1)
2
(3)
(4)

1 Day
3 Day
10 Day
15 Day

44. The projectile fired from a cattle slaughtering gun is :

(1)
(2)
(3)
(4)

a wad cutter

a bolt

an exploding bullet
a dupleix bullet

45. Assertion (A) : Latent fingerprints suspected on surfaces like cloth, carpet, towels etc. are

difficult to visualize.

Reason (R) : These surfaces are highly absorbant.
Code :

(1)
(2)
(3)
(4)

Both (A) and (R) are correct.

Both (A) and (R) are incorrect.

(A) is correct but (R) is not correct.
(R) is correct but (A) is not correct.

46. A firearm gets cocked when the sear nose gets engaged with :

1)
(2)
(3)
(4)

Bent of the tumbler
Main spring of lock
Sear spring

Trigger

47. Which of the following is a type of non-impact printer ?

(1)
)
©)
(4)
Paper-I111

Laser printer

Dot matrix printer

Daisy wheel printer

Both daisy wheel and dot matrix printer
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41.

42.

43.

44,

45.

46.

47.

TS foeiaes 9 fHem 0 @Rl d@T & 9dq1 aH % fou FEfatad 9§ e saa fe
AT E 2

(1) SRRST AT (2) TWIT
(3) drTwEr (4) TIRET AEhHRDT

‘Y ; T FHHSYH TS A hareR” AT Jsh o oldeh i & ?
(1) A, RTA. e g, 3R o=, (2) o9, WU, uog gyad, 3.4,
(3) ST, AU, UUS hahis, &, 3R, (4) THET.

a1 fervetsmT % fofw STeitad ¥am &
(1) 1f= (2) 3f=
3) 10f 4) 15%=

3 &I T T FET A & T IY] AR STt S5 o FoArT ST § 2
(1) dTEHX (2) doe
(3) fowERISt et (4) U el

FAfwe (A) : T e - S S, 9, difelg s % Tde W e § S 9K |
TETHH T e BT & |

HRUT (R) : T g T a9y 8id € |
&<

(1) (A) 3T (R) I W&l & |

(2) (A) 3 (R) TH 71 € |

(3) (A) Wl g, fvg (R) Tel &l ¢ |

(4) (R)TE g, g (A) T & |

HIE ATARA 3T THT Hich &I & 59 WA A 1 7 I ohgeh g Sgan ¢ 2

(1) T=EeRFdCH (2) e 1 B TarT

(3) ERR fam (4) fom

=1 9 9 B |1 -3 T 1 UER & 9

(1) R e (2) < e WX

(3) S = e (4) =S =het AR Sie Hefe Brex St
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48.

49.

50.

51.

52.

Rohypnol is used

(1) to detect traces of blood
(2) to facilitate rape

(3) to detect fecal stains

(4) to detect impotency

Immediate restraint of the mentally unsound is done under which of the following

laws/rules ?

(1) Currensrule
(2) S.81IPC
(3) S.841IPC

(4) Durham’srule

Assertion (A) : Maceration is degenerative change occurring in a fetus retained in-utero

after death.

Reason (R) : Degenerative changes are much faster in uterus than in open environments.

Which of the following is correct ?
Codes :

(1) (A)is correct, but (R) is wrong.
(2) Both (A) and (R) are correct.
(3) (A)iswrong, but (R) is correct.
(4) Both (A) and (R) are wrong.

Regarding Anthropometry :

l. It is also known as Bertellion system.

Il. Itis based on Quetelet’s law.

I11.  In this system 11 body measurements are taken.
IV. Photographs were not included in the system.
Code :

(1) I, 11and I are correct.
(2) land Il are correct.
(3) [Hland IV are correct.

(4) land Il are correct.

Regarding ossification centres of Scapula.
l. Coracoid appears at 1 year and fuses at 15 years

Il.  Subcoracoid appears at 16 years and fuses at 17 years
I11.  Acromion appears at 16 years and fuses at 20 years

IV. Ossification centres in left Scapula appear 5 years earlier than those in right Scapula.

Code :

(1) 1, lland Il are correct.
(2) land Il are correct.
(3) land IV are correct.
(4) Iland IV are correct.

Paper-I111 20
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48. fguHteT =l WANT fohdeh feT femam Tram & 2
(1) TF & 9 1 96T I (2) TATHR IS FH & [T
(3) T ST &I IAT T &q (4) ATHET F UAl AT &G

49. Tr=teiEd B | o6 /a8 & Siara AMiges fafd I qid e I ST § 2
(1) T m (2) IRAE g HiedT F &R 81
(3) YRAT I Hledr S &R 84 (4) =EuH HEw

50. AMMHAT (A) : TT P SR TR T T 0T H & el BRI T ST 8ot ¢ |

HRT (R) : ST TS Wl JATERYT 3 HehTaet TR § SToal il € |
fedIsR g
T

(1) (AT g " (R) T ¢ |
(2) (A) 3R (R) I T |
(3) (A) 7T &, W] (R) W& € |
(4) (A) 3R (R) IH To1d € |

51. WFEMT % X H Gl faehed S T97 T

. 39 Sieferam = off el STar € |

II. I8 S & 99 I emuia & |

I, 39 vomet 9 11 IR |1 foe S €

IV. 8 YOTel § il sl 9ot el fohar Tar o1 |

ETE

Q) LS (2) 13RI T |
() I 3RIVIE | (4) 13N TET |

52. Yl & AT fmior sl % IR
I 39ds 1 9 i 3 # KW@ 3 § 3R 15 99 & 37g § 8 & € |
Il 39-37ECS 16 a9 & 371G | T@rE a1 & 3R 17 99 & 370G H IS A8 |
[l TS 16 a9 H oY § @ a1 & 31X 20 a9 Hf 37 § g v ¢ |
IV. T Shger | a1 FHfor s STt Ther & ot 5 5 9 4ol fe@r S € |

ETE
Q) LS EE (2) 13RI FE |
(3) I 3ARIVIE | (4) 13TIVTE
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53. Injury is legally defined

1)
)
(3)
(4)

u/s 320 IPC

u/s 176 CrPC

u/s 44 IPC

Nowhere defined in Indian Law

54. Ashley’s rule states :

(1)
()
©)
(4)

Total length of sternum in male is > 149 mm

Total length of sternum in female is > 149 mm

Sternal body is more than twice the manubrium in males
Sternal body is less than twice the manubrium in females

55.  Apart from tobacco based product nasal swab is also collected for

(1)
()
3)
(4)

56. Let

Morphine
Caffeine
Cannabis
Cocaine

f = focal length of a convex lens,
p = distance of object from lens,
g = distance of image from lens.

Then which one of the following is true for photomicrography ?

(1)
()
©)
(4)

p>2f f<q<2f
p=2f qg=2f
p > 2f, q>2f
f<p<2f,qg>2f

57. A bullet is found by a medical officer while conducting post-mortem examination. Which
of the following is the most appropriate ?

1)

()

(3)

(4)

Paper-I111

Medical officer takes it out by a metallic tweezer, seals it in a glass bottle, puts the
case details on the outside of bottle, hands it over to the investigating officer and
obtains his signatures.

Medical officer takes it out by his hands, seals it in a glass bottle, puts the case
details on the outside of bottle, hands it over to the investigating officer and obtains
his signatures.

Medical officer takes it out by his hands, puts his signatures on the bearing surface
of the bullet, seals it in a glass bottle, puts the case details on the outside of bottle,
hands it over to the investigating officer and obtains his signatures.

Medical officer takes it out by a metallic tweezer, puts his signatures on the bearing
surface of the bullet, seals it in a glass bottle, puts the case details on the outside of
bottle, hands it over to the investigating officer and obtains his signatures.
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53. =i o afyeh &7 § g fohar €

1)
()
(3)
(4)

IR T GfedT st 9R1320 § |

ST TeRAT HigaT sl 9RT 176 H |

IRA™ S Gied ! 9RT 44 H |

IR B | Hel o TR Fal 6 T e |

54. T Sl 959 1 ST € 2

1)
)
3)
(4)

TEuT | AR & FoT ware > 149 foft, gt & |

AfgetaT | U & FHoT oiare > 149 AT Bl € |
Toul H SR B Aferam @ g7 § Afereh g € |
Afgeet # SUR H Sfs=H ¥ TR I FAEATE |

55. eI TR SCRT % AN AT Se e § F fohgeh gRT U fohar ST FehelT & 2

1)
(3)

1)

Ba 1) (2) HifE
HAITe (4) HIH

56. THAT = Hrae o S AT T
p = T § %] W g
q= o9 9 fa =

T TehTRT GEHOIEH ] Heteiied | 9 41 9 § 2

p>2f f<q<2f (2) p=2f,g=2f
p>2f, q>2f (4) f<p<2f,q>2f

(3)

57. E-GIEI0T X % hH 1§ et fafee it @i goie faerar & | Fefatea @ @ @ ety
S € 2

1)

)

(3)

(4)

J-82-16

Tafrear aAfyeRt org ¥ o+ fawel | T8 aRY Fehedr €, 30 ®id & aidel ° |io R €,
AW 1 [TaRr Siael & SR foraar §, 39 ST SARERT B IS HAT § SR SHH
TEARR a1 € |

Terferean TRt 30 30 &1l @ STeX (epietdT &, T8 i o sidel § 9iel Sl ¢, JHe &
freROT 1 Ioei@ el & FI HXAT &, TH SO0 BRI Bl GIE HAT & 3 STHT
TR a1 € |

Faferear Stfuerl 39 3197 B9l ¥ JeY [HhetdT €, Tell & SEiT T%HE I 370 8&el
AT 2, T D & aidel § GieT HLdT &, diael o HIC A ol foeror foraar &, 39 3mayor
HRT T YIS FAT & 3T A FXART AT |

Tafhear STt o1 ¥ o fomet | el i deY FehterdT &, el o AT Sk U 370
TEARR AT €, T4 T & dided § HT HaT €, AHed & [Ger0T H Seoid dided & 30
AT &, TH STAT0T BRI BT GI HIAT & 3R ST SR A & |
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58.

59.

60.

61.

Numerous and shorter radial fractures in glass indicate that the hole has been caused by a :
(1) Stone hurled at glass

(2) A lead bullet fired from revolver

(3) A jacketed bullet fired from revolver

(4) A high velocity rifle bullet

The word ‘Forensic Science’ is derived from :
(1) Latin word Forensis

(2) Greek word Forensis

(3) American word Forensis

(4) English word Forensis

Assertion (A) : The sensitivity of ESR spectroscopy is higher than that of NMR
spectroscopy.

Reason (R) : The magnetic moment of an unpaired electron is about 700 times to that of
proton.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.
(3) (A)is correct, but (R) is incorrect.
(4) (A)isincorrect, but (R) is correct.

Which of the following is correctly matched ?

List—1 List—11
(Tsuchihashi Classification type) (Characteristics)
l. Type | A. Yandinverted Y like bifurcation
. Typell B.  X-shaped grooves
. Type HI C.  Clear cut grooves running vertically across lip
V. TypelV D.  Grooves are oval and circular
E.  Grooves are reteculate
Code :
I I "W
1 ¢ A B E
2 A D B C
B A E C B
4 E B D C
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58.

59.

60.

61.

HT T g 3R SIS g [adsH @ YaT Fotdr & 76 e | o $9 gen e
(1) o/ W HH T TR

(2) RameeR ¥ Fofe TE St ®f Meit

(3) RafeeR ¥ Tl T SER0T Jord et

(4) =T o ATt S5 H A

“ERITE AT’ I Pl 3T Fol 9 g8 2
(1) e osg waw °

(2) Tk = wRIGE 9

(3) 3Re v ®RIGE |

(4) =TS v wRIEE 9

AMHTT (A) : T T AR WIS Dl FAGACA T TH TR WFIERT i Fagierar d
31T Bl € |

HROT (R) : AT S BT Goshid SEUT WIS o Gashid SME0T b STULT T 700 oM
3T BT & |

%

(1) (A) AR (R) I I |

(2) (A) 3R (R) IHI Teid € |

() (A)TIE, o] (R) T & |

(@) (A)TEaE, FFI(R) TIE |

frfefad & @ ford Tt & @ gafera fear man g 2

e - | = - 1
(g=ht-aett arfieneoT 2rgw) (Ferorerem)
l. er=T-| A. Y 3R IR Y 9599 fgaH
1. 2Eg-1 B. 79 3 3R §H 4T X
1. 29 - 1 C. Bl 3R g W yoq
IV. 2= - IV D. ad @R AR WA ed & |
E. o9 AR ed & |
T
[ | I 1 TR\
1) ¢ A B E
2 A D B C
B3 A E C B
4 E B D C
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62.

63.

64.

65.

Which of the following is the correct method of collection of gun-shot residue from the
hands of a person suspected to have committed suicide by a pistol ?

(1) Swabs by 5% nitric acid are taken by glass rods and preserved in glass bottles.
(2) Swabs by 5% nitric acid are taken by wooden sticks and preserved in glass bottles.
(3) Swabs by 5% nitric acid are taken by Johnson’s buds and preserved in glass bottles.

(4) Swabs by 5% nitric acid are taken by Johnson’s buds and preserved in cellophone
envelopes.

Urea Nitrate crystal test for urine results in __ types of crystals.
(1) Needle shaped

(2) Hexagonal

(3) Star shaped

(4) Flattened

Assertion (A) : In NMR the proton can align with or oppose to an external magnetic field.
Reason (R) : The proton behaves as a spinning magnet.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is incorrect.

(4) (A)isincorrect, but (R) is correct.

The inner surface of the barrel of a firearm acquires individual characteristics because :

I.  The teeth on the cutting edge stress the material beyond elastic limits, fractures
come out of surface, the fracture patterns are individual characteristics.

Il.  Rust formation.

I1l.  Use and abuse of firearm.

IV. Teeth that get cut from the cutter mark the barrel.
Choose the correct combination :

(1) 1, lland Il are correct.

(2) land IV are correct.

(3) Iland IV are correct.

(4) 1, lland IV are correct.
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62. TUdieT 9 e A H Wiy =Afdd & 812 § 91T T TMell T ST+ J Getud et Guego
Al R EAT

(1) &= H B I 5 W AEieh 3Tt FRT Wl HT T i Bl diqel § ARRIRIT fohar ST &
(2) RS B DY H 5 AR AP STA FRT T H 9 BT i Sieiel T URRIETT o STar ¢ |
(3) A S T 5 UTwId ATgieeh T FRT We Y $H i bl aidel H URIeTd fham Sem & |
(4) SIFET TS T 5 U9 TSI ST §RT WF H 50 Yellth [oThIh § TRRIeTd o STar € |

63. T % IRAT g fohieet TIeToT 1 UROTH {hT UhR & fohieet § |- 37T € 2
(1) 9 & B ST (2) R

<

3) AR & 3T ST (4) THae

64. AMWHYUT (A) : U7 UH 3R | UiH Tl el Traienig &1 ¥ a1 df S8 9ehal & a1 399 gaeh &l
THAT ¢ |
HROT (R) : WA T =5k I Sl e Hd Xl € |
T
(1) (A) 3R (R) I I E |
(2) (A) 3R (R) HI T € |
(3) (A) Tl g, 3T (R) Tord ¢ |

4) (A) T & 3R (R) FRIE |

65. ST &l Tofl i STEEAT Tolg I AMLUH o 7 HRuM & & Fhdl &

I, e STel 9R & I Folt i T T T T & W e g & 98 gofg W i e
ST % HROT T8T S 9ol B9 ¥ AMEH et 57 A ¢ |

. S

], A=A 1 STFNT SR JEUANT

V. e arel 4R W 99 §d % 69 ST o HROT Tl § MR o6 s7d ¢ |
TEl T BT A B -

Q) LIS EE (2) 13RIVTRE |

() NARIVEE | 4 LNRIVIEE |
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66. Urobilinogen, a bile pigment, excreted in feces, may be detected using its fluorescent
reaction to reagent.

(1) Takayama
(2) Edelman’s
(3) Frohde’s
(4) Mandelin’s

67. Erythrocyte Acid Phosphate (EAP), enzyme is detected only in :

(1) WBCs
(2) Plasma
(3) Cortex
(4) RBCs

68. In HPLC dead time denotes
(1) Time taken by analyte to pass through stationary phase
(2) Time taken by mobile phase to pass through stationary phase
(3) Time taken by air bubble trapped in mobile phase to pass through stationary phase

(4) Time taken for sample to be loaded on to stationary phase

69. In a criminal case involving firearms, the range of firing can be best estimated by
comparing the evidence pattern of tattooing or spread of pellets with test patterns
produced by firing the suspected firearm from various distances, using :

(1) Ammunition recovered from accused
(2) Ammunition received from police
(3) Ammunition available with FSL

(4)  Ammunition purchased from market

70. In which of the following instruments, the specimens are irradiated using high energy

photons ?

(1) WDXRF
(2) ICPAES
(3) ICPMS
(4) ETAAS
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66. JUETECHSH, aget e, SO Iof § @9 el €, & UedE SR UideRe & 9
AT Skt T WEANT ek o ST Hehell € |
(1) cwrH (2) TweEEw
3) wred (4) #=fera
67. IOUIEIEE TR WivhS (SUW.) H USEH e | ¥ forad et € 2
(1) =g, s (2) oS
(3) e (4) e,
68. TTULTAE. H TT TN FETT FA ¢ -
(1) Toverus R fer 31ae ¥ ge ToRA ° oFdid 999
(2) TiqHE STEw ¥ feR e § 9H & A | Sdid 99d
(3) TIAHM 3T § T o1 % Fordel 1 R ST § 37 % A | oFdid 90
(4) e S @t fer stawe | die o § Sda 99
69. ferdlt amarE gRT fop T ot ARt | wERT I o Wl i, diey SzEh sreEn 51 %
heATel St T TSERS S-ATE s fafi= gt | e%e waiT gRT ure et @ ot STt € 1 39
S wER # Fefafad § | S 91 elr-anes waT fomar S g 2
(1) TS H RS MeAl-aes
(2) Ufe | U Tier-ares
(3) Taty-TosT= HARTeIeT | SUeTed TAT-aTes
(4) R QIR T MA-TEE
70. Trefofed o I fm STROT § S0 STl aTel TS 1 TET e g A9 I fafehRor feham ST & 2
(1) WDXRF (2) ICPAES
(3) ICPMS (4) ETAAS
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71.

72.

73.

74.

75.

Assertion (A) : Landsteiner in 1901 discovered ABO blood groups.
Reason (R) : Specific antigen activity was observed in blood.
Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is incorrect.

(4) (A)isincorrect, but (R) is correct.

Which of the following optical absorption is used in breath analyser ?
(1) UV radiation

(2) Visible radiation

(3) IR radiation

4) X-ray

Acid phosphatase test is a significant test in cases of rape, as the high concentration of
acid phosphate is found in :

(1) Semen
(2) Hair
(3) Bone
(4) Nails

The explosive mixture TNT + Al is called :

(1) Terytol
(2) Cyclotol
(3) Octol
(4) Tritnol

A criminal louded a cartridge in one firearm, but it did not fire. He was successful in firing
it from another firearm. So this cartridge case has firing pin impression of two firearms. In
order to prove in the court of law as to which firearm had fired this cartridge case, the
expert may depend upon :

(1) the firing-pin mark having more depth.
(2) the firing-pin mark having lesser depth.
(3) the extractor marks.

(4) breech-face or chamber or ejector marks
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